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0000df00000003000000001000000000000
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= {— — —} sin? ¢ 4 sin? ¢ + cos? ¢
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= |sin(¢) — gb)—/\a—l—cos(@/) gb) 8 +5_yl/\8_y2
= V/sin( — )% + cos(v) — ¢)? + 1
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lo =1(ro,u) 000000 ry,up,m,us 0000000 0 < (ug,up), (u,up) 000
OuwpOOOooooOoooobooogo,, o RXS"_l(l)DDDDDDDDOUOD



86 050 EuldOODOOOOODOODOO
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= (e;,ej) — (e;, x)(ej,x) = 0.
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goooog

(@1, un)(T (P, uz) (2, 0)) = (TP, )T (P, up)) (2, v)



92 050 EuldOODOOOOODOODOO
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gobobobuooobobooboodn

k

/Ln1(R") # <g Gl l) du(l) = /Ln1(R") Z#(ci N1)du(l)

=1

goboog
gobcObObOoogbbbogobbbegoobbbod«.0oonoobon
000000000 d;000001lim L(d;))=L(c)0000000O0O0OIO00O0OO

gobbbooobbbuoooobbbuooobbboooobbod

#(dy N1) < F(dginr) < -+ < #(cN 1)

0000000000 000000000000000#(dxinl)0 #(enl)O
ooooddbdc0oOoOoOoOOO0UOUOOODOODIDODOO L,4(RMHOODOO
O0Ooboob0odbOLebesgune 00O 0OO0O0OOOODOOODOOO

/ #Henldu(l) = lim #(dyi N 1)du(l) = lim Ky, L(dy:)
Ln_1(R") i—00 Ln_1(R") i—00
= Kn_1L(c)
goooon
goad

I(c) ={(x,l) e (R" x L,1(R")) | x € ¢}
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gooooos21000otoou.-.oooan
iTH(I(c)) = ¢ x G (R)

000000000R'xG,1(R")O0-,000000000000000001(c)
0IR"x L, (R"))0 00000000000

mr:I(c)— L,1(R"); (z,0)—1

0000007, 00000007, 000000 I(c)»R"x L, y(R")O000
O000O0R"x L, (R") — L, (R")0000000000C*0000000
000 I(¢)00000 100000000000 7,000325000000

[ e = [ md
Ly—1(R™) I(c)
gooooggd

' () ={(z,)) |z €l, z€c}=(cnl) x{l}

DO000#(r ') =#(cnl)0000

[ et = [ mdn
Lo 1 (R) 1)

000000000000000000000000 »,00000dr, 00000
00¢000000000s0 G, 1(RM)OOI0,u)0000000 ue S 1(1)
00000052100000000400000000

T © i(C(S), l<07 u)) = WL(C(S)a l(<C<S),U>,U)) = l(<C<S),U>,U).

o000 , ] ] ;
drydi (g) = 1({els),u)w) = <d—§u> Pt
Xeﬂw"m»DDDDDmlmmmmmeum:uD%? — X000
Oo0O000O0O00o0 =

drpdi(X) = % _Ol(<c(s),u(t)>,u(t)) = (c(s),X)% + X
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000O07T,(S"'(1)0000000 Xi,...,X,, 000000/, X1,..., Xn_1
Oex PY(R)00000000000000COOO0

AN de \ o ") )
(£ (x| = (L) 2 X)L 4 x,
drrdi (85) A l/:\l drrdi(X;) <ds’u> o A Z:/\1 ((c(s), l)(% + Z)‘
dc o "'
- (DN ZANX
<d$’u> or " zz/\l ‘
de ol "\
= — —_— . X
<ds’u> or Z/\l ’
)
= [{ —,u)|.
s

good

1 dc
JﬁLdu:/—/ <—,u>
[(c) c 2 Sn=1(1) ds

gobbbooooboboboooon

du(u)ds = /Fénlds = Kkn_1L(c)

[ #Henbdul) =0
Ln_1(R")
goono
o0 5.2.3
IR" x Li(R") = {(2,]) e R* x Li(R") | z € I}
goooono g
j:RxT(S" 1)) — R" x Li(R™); (t,z,v) — (v+ tx, [ (z,v))

D000000000000;0000000000 I(R*xL,(R*)0000000
00 j:RxT(S" (1)) —» I(R"x L (R"))00000000000I(R"xL,(R"))
OR"x Li(R")02,—10000000000000000:0

i:R" x P""Y(R) — I(R" x Li(R")); (2,1) — (2,1 + 2)
0000000000000 0000000

00 j000004¢000000j0000000L(RM)O00000T(S™ (1))
00000000000L(RYODO000 T(s"(1)00000000000
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Ob000d1<k<n—-10000

dj (éi 0 0) = (,0,0),

dj (0, e, — (v, ex)x) = %Oﬂmm@wxmwmm
= B @)+ ) @), o) @), du(5) )
= (—(v,er)x + tey, ex, — (v, e)x),
dj(0,0,ex) = % ) Jj(t,z, v+ sex)
= % » (v+ sep + tx, l1(z,v + sey))
= (ek,O,ek).

gogogobbbbobodoooooobbbbbbooooobobbbbobodad
goon

d]( ) /\djOek, (v, ex)x /\djOO@l

1 n—1

= [(2,0,0) A )\ (= (v, ex)x + teg, ex, — (v, ex)x) A /\(el, 0,e)

n

:TT
=

n—1

= |(z,0,0) A /\ tex, ex, — (v, ex)x) A /\(el,O,el)

=1

n—1 n—1
= |(x,0,0)]*- /\(tek, ex, — (v, e)T) A /\(el, 0,€)
k=1 =1
n—1 _ 2
= /\(tek,ek, U, ex)T /\ ek, 0, ex)
k=1 k=1

2+ 1)1,y tly

t]-n—l 2- ]-n—l ( )

tln—l 2- 1n—1

__| (#2/24 Doy 0

000 0000000000,;0000000

L T(S" (1) - LR OD000000000000;000 I(R"x L, (RY))
000000000000

;000000 j(ta,v)=4,,0)000000000000000 + 2 =
v+tz00 L(2,v) =L(z,0) 0000000000004, v) =l(z,0)0000
0000« =+200¢ =0000000000000

(' )= (t,z,v) OO0 (', 2',0)=(—t,—z,0)
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0O jt,zv)=4{,2,0)000000000000000000O0O0OOOOOO
00j:RxT(S"'(1)) = I(R"xL(R"))00000000000I(R"x L (R"))
OR"x L1 (RO 2n—-100000000000

[ =1(x,0)e P (R) C Li(R") (x € S"1(1))0D00DO

l+2=T(1,2)l1(z,0) = li(x,z — (z,z)x).

godno

i(z,01(x,0)) = (2, l1(x, z — (2, x)x))
googood:O R”XLl(R”)DD crgogogoooonooodesgd [(R”X
Ll(Rn))DD cO00douoi:s0ooouoo:O00ooooooooooou

J0bo00boo0obo0obo0obooooob vbOOO0O01<k<Sn—1
gooo

di(x,0) = —| i(z+ sz, li(z,0))
s=0

= —| (z+sz,lL(z,z+ s — (2 + sz,x)))
s=0

= — . (z + sz, li(z, 2 — (2,2)x))

= (x7 O’ )7

di(ey,0) = — i(z + seg, l1(x,0))

s=0

= —| (24 segli(z, 2+ sex — (z + sex, x)x))
s=0

= — (z + sex, l1(x, 2z + se, — (z,x)x))

di((),ek) = z(z,l1(¢k(s)(x),0))

ds 50

= | (L)), 2 = (2 0k(s) (@) dr(5) (7))

= (0, 681: —(z,ex)r — (2, )eg).

gogobbbobbbouooooobbbbbbouoooooobbobbougo
gogoo
2

n—1 n—1
di(x,0) A J\ dier,0) A J\ di(0, )
=1

n—1 2

k=1
n—1 -

- (1;7070) A /\(ek7076k) A /\(anla _<Za €l>l' - <Z71’>€l>
k=1 =1
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2

=|<£E, 0, 0)|2 ’

/\ ex, 0, ex) /\ (0,e1, —(z,e1)x — (z,x)ep)

k=1

n—1 —
/\ er, 0, ex) /\ (0,e, —(z,e)x — (z,x)€e;)
k=1 =1

2

000000000000000000000000000001<k,1<n-—
1, k10000

ex,0,er), (ex, 0,ex)) = 2,

(( ) (

((ex, 0, ex), (e1,0,€1)) = 0,

((er, 0, €x), (0, e, = (2, ex)x — (2, 2)er)) = — (2, 1),

((ex, 0, ex), (0, €1, = (2, ez — (z,2)er)) = 0,

(0, e, — (2, ex)r — (2, 2)er), (0, ep, — {2z, ep)x — (2, 2)er)) = 1+ (z,7)%
(0, ex, —(

z,ep)x — (z,x)er), (0,e, —(z,e))x — (z,x)e;)) = 0.

ggbbobuooobbboogooboo

n—1 n—1 2
AN difer,0) A\ di(0,er)
k=1 k=1
2 - ]-n—l —<Z, J]>1n_1
—(z,2) 11 (14 (z,2)%) 1,
2- 1n—1 —<Z71’>1n_1
0 (14 (2)2/2) L
{

2, $>2)n_1.

— 2+

gbooobobobobdb«abOoooooobobo:bobobonboonog.
gogbobobooggoboboooon

00 5.24 (Crofton000) R*O00ODOO SOOOO
/ #(SN)du(l) = kp_qvol(S)
Li(R™)

gogoooo

ggd
I(S)={(z,1) e IR" x L1(R")) | z € S}

gogboodobobbooogbobobog-.0ogon

i H(I(S)) =S x P"'(R)
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000000000 RxP~YR)02,—200000000000000000
I(S)0 I(R*x Ly(R")0 2n— 200000000000

7w I(S)— Li(R"); (2,0)—1

0000007, 00000007,000000 I(S)—R*x Ly(R*) 0000
00000 R"x Li(R") — L(R")OO0O00000000C*00000000
00 I($)00000100000000000 7000000000000

7 (1)du(l) = Jrrd
[, o ) = [ i
Do0oooo
') ={(z1)|ze€l, ze S} =(SN1) x {I}
DO000#(r () =#(SN)0000
/L o, SN0 = /I pRLTs

000000000000000000000000 »,00000 dr, 000
0004 (z,0) e PPYR)O0O0OOT,(S"(1)0000000 e,...,e,.,0000
000SO 000000000 X0

n—1

X =(X,x)xr + Z(X, ex) ek

oo0o0oobOobOo«:.000b00b0oboobD1<k<n—10000

di(X,0) = di <(X,x>x—i—

dZ(O, ek) =

dr, 0 L(RMODODOODOOOOOOOO

1

drpdi(X,0) = (O,ni:(X, ek)ek> =(0,X — (X, z)x),

drpdi(0,ep) = (eg, —(2z,ex)x — (2, 2)eg).
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ooosSO000000000000000000 X,,...,X,,00000

n—1 n—1
J(rpod) = |\ drpdi(X;,0) A J\ drpdi(0, ep)

k=1 m=1

— /\ <O,Z<Xk,€l>€l> A /\ (em, —(z,em)x — (z,x)en)| -

k=1 =1 m=1

ggoobobuoooobb000n

n—1 n—1

<X17 el>ela LY Z(anla €l>€l

=1 =1

O ot =span{e;,...,e, 1} 00000000000
n—1 n—1 n—1
J(ﬂ-L OZ) = /\ (07 <Xk,€l>€l> A /\ (6m7—<Z, €m>‘r)
k=1 =1 m=1
n—1 n—1 n—1
= /\ (07 <Xk7el>el> ° /\ (em7 <Z,€m>$)
k=1 =1 m=1
n—1n-1 n—1
= (Xp, e)er| - 1= |det((Xy,er) /\ em
k=1 l=1 m=1
n—1 n—1 n—1
= |det((Xy, e))| = |</\Xk,/\el> = A\ Xpnz
k=1 =1 k=1
gogobobodoo 131200
n—1 n—1 n—1 n—1 n—1
</\Xka/\€l>: /\Xk/\*</\€l> = /\Xk;/\l’
k=1 =1 k=1 =1 k=1

ggboobobogggboooao

/ Jrpdy = / JWLJid,U,I/ J(mp 0)dp
() SxPn—1(R) SxPn=1(R)

n—1 n—1

= / /\Xk/\x d,u:/ / /\Xk/\x dp | dp.
SxP"=1(R) |p—1 S Pr=Y(R) | =1
ooogd
n—1 1 n—1
/ /\Xk/\x d,u:—/ /\Xk/\x du(z)
Pn—l(R) k=1 2 Sn—l(l) k=1
n—1
oobooooooon /\Xk/\xDTZSDDDDDDQ:DDDDDDDDDDD
k=1

oos~Y(1)00o00o00oo0oooooo

1
: / j@1]du(z) = /
Sn=1(1) S

1 r1dp(z) = vol(D" (1)) = Kpy

n—
+
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gogoooooooooos21i3uoooooooooooooao
/ JﬂLdu:/Kn_ldu:/fn_lvol(S).
1(S) s
0000000000000 0000000000 CroftonO00O0O0O0OO

/ #(S N)du(l) = kp—1vol(S).
Li(R")

5.3 EuclidOUOOOOOOO

n000000000 M,(R)D000000 O(n)0 M,(R)00000000
00000000,0000000008,(R)0O000

o: M,(R)— S,(R); X —'XX

0000 C*000 000000(n) =¢}(1)0000000(r) 0000 0
000000000000000000() 0 M,(R)D00000000000
D0000X,Y e M,(R)ODODODO

d d
s=0 s=0

geOm 0000
dpgx (9Y) ="(9X)gY +'(9Y)9X ='XY + 'V X = dox(Y).

0000 dpygxog=dex : M,(R) — S,(R) 00 0Orank(dpyx) = rank(dex) O
oooooobobdp,000o0ooboobobobooogoogon

dp(Y) =Y +'Y (Y € M,(R))
00dpy 00000000 M,(R)DDO0O0O0O0O0O0O0OO0O0O0OO0O0O0O0O0OO
dim O(n) = dim M, (R) — dim S,,(R) = n® — %n(n+1) = %n(n— 1).
00O 0000000000
O(n) x O(n) — O(n) ; (9,h) = gh,  O(n) = O(n); g g~

O0C*00000000Mn)0 Le00O0O0O
n00000000 A,(R)OD0OD00O(n) 0000 1000000000000

T1(O(n)) = kerdgy = An(R)
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0000000000 M,(R)OOOO

(X,Y) = %tr(tXY) _ % En: X,V (XY € My(R))

ij=1
00000000M,(R)D0ODODODD0O000 S,(R)0A,(R)D0ODOOOO
D000000geO(n 0000
1 t 1 tyt 1 t
{9, gY) = Str((gX)gY) = Str((XTggY) = Str(XY) = (X, V)
0000000(rO0000000000O M,(R)D0O0000000
1 t 1 t t 1 t t 1 t
(Xg,Yg) = su({(Xg)Yyg) = Str(g'XYg) = Jr(\XYg'g) = Str(XY) = (X, Y)

ooooo0d0o(n)DO0O0O0O0O0O0DODOODOD M,(R)DODOOOODODOM,(R)
000000 O@OD00 RiemannDO0DO0000000000 ge O(n)0D
gug

L,:0(n) — O(n); hw gh, R,:0(n) — O(n); h— hg

00000000000000000000000 O()O0O0O000ooon
i:0(n)—0(n); gr—g!

000000000000000i000000000000000000000
000000000000000000000000000000000000
O0000O00A€A,(R)0D0O0

t=0

0000 O(R)O0DO A ODDODOAHAEH) ™ =10000¢t00000000
000

d _ dh(t) dh(t)™!
= — (h(h() ™) =d - dL .
0 dt(()()) Ry o + dLp) 7
O0t=00000
dh(t)"'|  _ dh(t)
dt |, dt |,_,
O00OgeOmODOoon
d

dig(dLy(A)) = &

ht)tg~! = —dR,-1(A).

t=0

igh(t)) = —

t=0

00000diy,=—-dR,10(dL,)*0000d, 000000000D0DO0OOO
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000 SO(n)0O(r)D0D00000000000R"00000000000
000 MRYOODODOMRY)OODO0DO0O0O geSOm)0uecR 0000

T(g,u)(z) =gz +u (x € R")

O00000000000000 MRMHOODDODODOO SOn)xR*OOOO
MRY"YOR'OUOOUOOOODODOOOOOOOOOOOO

o)LL)

O00D0DO0D0DOMRYOR'O LeD0OODOOOODOOO0OOOODOO

S (R N ke

00
SO(n) x R" — M(R") ; (g,u) — T(g,u)

O00000000000SO(n)0 RiemannOOO R*"O00000 Riemann 000
MERYOOOODOO

00 531 MRYHYOODOUODODODODOODODOODODODOODODDODDODOOOOOOOOO

00 a=T(g,u) e M(R")ODOOO Ly(T(h,v)) =T(gh,gv+uw) 000000
AcA,(R), YeR"OODOO

dp(t)
0)=1 —_— =A
p(0) =1, ar |
0000 O OO0 pt)0000
d d
dLo(dLn(A),0) = —| LJT(hp(t),v) = —| T(ghp(l),gv + u)

dt —0 dt —0

= (dLgh(A)vo)v
d d

dL,(0,Y) = —| L,T(h,o+tY)= —| T(gh,g(v+tY)+u)

dt],— dt],_,

= (0,gY).

ooobdL,, 000boboooooL, oooooboooooboboonL, O
goboboooooooon

00 532 MR"HYOODOOO a«OOOO

R,(z) = za (x € M(R™))
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0000000 R,O0000a = T(g,u) € MR OOOO Ru(T(h,v)) =
T(hg,hu+0v)000000A€ A,(R), Y e R"0000

po) =1, 20 =4
0000 OmOO0O pt)0000

dRo(dLp(A),0) = % R (hp(t),0)
S RACCOPRIEOIEY
S R COR Ty
= (dLp,(g7"Ag), hAu),

dR,(0,Y) = dit R, T(h,v+1tY) = % T(hg,hu+v+tY)

= (0>;/:)0' -

0000 dR,0000000000000000000000000O0O0OOR,
000000000000000000001<a<b<n00000(ab)00
010(h,e)000 -10000000000000000 A4,,000000000
{Asp]|1<a<b<n}0A,R)00000000000000O0OR"O00000
00 {X;|1<i<n}00000

/\ dRo(dLy(Aap),0) A /”\ dR. (0, X;)

a<b i=1
n

= /\(dth(g’lAmbg), hAupu) A /\(O,Xi)

a<b i=1
n

= A(dLig(g7" Aasg), 0) A \(0, X;)

a<b i=1

000000 sSorn)00000oooooO0UUooooooOoooooDooood
0s531000dR, 0000000 DO0ODOODOOODODODOODODbDODOO
gobogbuobRrR, 00000DODODOD

5.4 Poincaré O [
Eucid 0O OOOOOO0OO0OO0OO0OO0O0O0O0 Poincaréd 00O OO OODOO
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00 5.4.1
I(R")* x M(R")) = {(z,y,a) € (R")* x M(R") | z = a(y)}

DO0O0O0O0I((RM2x M(R")O (R")? x M(R") O n+dim M(R")OOODOO
0000000000

i (R™)?x SO(n) — I((R")? x M(R"))
; (z,y,9) = (2,y, T(L,2)T(g,0)T(1, —y))

gobob.00000d.0b0bboogoobooo

00 (RY)2x MRMOO (2,5, T(g,w) 0 I(R")? x M(R*) 0000000
ool z=9gy+0000000

F:(R")?x M(R") — R"; (z,y,T(g,u)) — gy +u—x

0000 I(R")2xM(R")=F0)000000000 FOOOOOOX €R”
oooo

d
dF(wyva(gvu))(Xa 07 O) - E F(.Z‘ + tX? Y, T(gu U))
t=0
= — —r—tX
dt|,_, (gy +u—a )
= —X

0000000dFO0D000000000000000000n I((R")?x M(R™))
0 (R")2x M(RY)OOOODODOOO0O0O0O0

00:0000000000000000:00000040 (R")?x M(R")O
0C~000000000000040 I(RY?x M(R™)00 C*000000
00 (z,y,0) € I(R")?*x M(R")DDOO0O

T(1,—x)aT(1,y)(0) =T(1,—x)a(y) =T(1, —z)(xz) =0

000 T(1, —2)aT(l,y) 00000000 T(1, —2)aT(1,y) € SOM)0OO0O0D0
ogood
j o I((R"?*x M(R") — (R™)? x SO(n)
) (SL’,y,Oé) = <x7y7T(17 —$)C¥T(1,’g))

oooooggjoOo00b0gyjoc*ogbbogb.000booobooboooon
000 o0ggooooo
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00 5.4.2 (Poincaré 0 00) 000 p,q,n0 p+g=n00000000p,q0
00000000 CO0OO00O0OR"OO 0000000 S,0¢0000000
s, 0000

/ #(So N gSy)du(g) = Cvol(Sp)vol(Sh)
M(R™)
gooooo

00 5.4.3 05500 EucdidDOOOOO HotellingOUOOOOODDOOO p =
1, ¢q=n—-1000000 54.20 Poincar¢e 000000 CO

2vol(SO(n + 1))
(S1(1))vol(Sm=H(1))

C=7

000000000000000 p+¢>n0000 p,q00000 Poincaré O
000000000000 Poincaré 000000000 OO0O0OR OO p0000
000 S0¢0000000 S,0000

o _ V01Q9P+qfn(1))v0109()(n-+-1))VO "
/M(Rn)v 1(So N gS1)du(g) vol(SP(1))vol (S(1)) 1(Sp)vol(S7)
oooooo

00

1(So,S1) = {(z,y,9) € I(R")* x M(R")) | x € Sy, y € S1}
000000 s41 0000000 00000
i_l(I(So,Sl)) = So X S] X SO(n)

000000000 SO(M) x (RM)?0 n+n(n—1)/2=dim M(R")OD0D000O0
00000000000(S,,S)0 I((RY)? x M(R™) O dim M(R" 00000
gooooo

T 2 (S0, 51) = M(R") 5 (2,y,9) — g

000000 700000007, 00000 I(S, 1) — (R*)?x M(R*)0 0O
0000000 (R x M(R") — MRYOODOOODOOO0OO0OOC®00000
000000000 7000325000000

| mitodnte) = [ I
M(R") I(S0,51)

0000000
T (9) ={(9(v),y.9)) | 9(y) € So N g5}
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D000 #(my(9) =#(SoNgs) 000D

/ #(So N gSh)du(g) = / Jmdp.
M(R?)

I(S0,51)

000000000 6:8 x5 x80(n)— 1(S,5)000 325000000

/ Jrydp = / JmyJidp = / J(mpr 0)dp
1(S0,51) SoxS1x50(n) SoxS1x50(n)

ooo
/ #(SoNgSy)du(g) = / J(mr 0 1)dp.
M(R™)

S()XSl XSO(n)

000000000000000000000000 myo0i00000 d(myoi)
00000 (z,y,9) € (myoi) 0000

mvoi(z,y,g) = T(1,2)T(g,0)T(1,—y) = [(1) f] [g (1)] [(1) _19]

w9 —y | _ |9 r—gy
01[]0 1 0 1
= T(g,z— gy).

0000 my0i00000 d(my0d)0 X € To(Sy), Y € T,(S1), A€ A,(R)ODO
00000000000

dp(t)
dt |,
0000 O OO0 p(t)0000
d(my 09)(X,0,0) = 8 )0( |
d(my 01)(0,Y,0) = 8 —gY 7
d _
d(ma 04)(0,0,dLy(A)) = — gp(t) = —gp(t)y ]
tli—o 0 1
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T,(S)0000000{X;|1<:i<pl0T,(5)0000000{Y;|1<j<q}0
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